In Class Problems 9/10/99

1. We can achieve a data rate transfer of 56kbps in a 23 channel using a DS-1 format because within each channel 7 bits per frame are used for data and each frame is repeated 8000 time per second, therefore we have, 7bits X 8000ps=56000 or 56kbps.

3. (a) 1200dpi squared = 1,440,000; 8 x 10in. pic X 1,440,000 X 10-bit gray scale = 1,152,000,000/8=144,000,000bytes or 144MB

(b) red=10bits+blue=10bits+green=10bits=2 to the 30th

(c) 1200dpi squared = 1,440,000; 8 x 10in. pic X 1,440,000 X 30bitscale=3,456,000,000/1,544,000=2238 sec







4. (a) 2400dpi squared X 7in x 11in =443,520,000/8=55,440,000 Bytes

(b) 443,520,000/19,200=23,000 seconds / 3600  = 6.42hrs

5.  30voice channels X 6-bit sample + 1=181 X 8000=1.448Mbps

